Chapter 9: Inequalities

Math 9


9.2: Solving Single-step Inequalities

	DRILLS

	Which of the following are solutions for the inequality 
[image: image1.wmf]  

  

  

x

£

-

2

 OR x > 7

· x = 5

· x = -6.7

· x = -2

· x = 49.23

Show the solution graphically for the inequality x > -4 AND 
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Solving inequalities follows the same steps as solving equations except:



* When multiplying or dividing by a negative number, we must ______ 
the inequality sign.

Why? 

Well, just look at the number line! 

For example, from 3 to 7 is an increase, 
but from -3 to -7 is a decrease. 
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	-7 < -3
	7 > 3


See how the inequality sign reverses (from < to >) ?
We can check our solutions by _________________________________
What If I Solve It, But "x" Is On The Right?

No matter, just swap sides, but reverse the sign so it still "points at" the correct value!


7 < x

That is a solution!

But it is normal to put "x" on the left hand side ...

... so let us flip sides (and the inequality sign!):

x > 7

Ex. 1: Solve the following inequalities. Show your solution graphically.


a) 
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b) 
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c) 
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Writing an equality for a problem

Ex. 2: The student council decided to raise money for the school by hosting a concert. The cost of hiring a band is $1000 and the council charges $5 per ticket.


a) Write an inequality showing that the profit must be more than 
$1200.




b) Find the fewest number of tickets they need to sell such that they 
will profit at least $1200.
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